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Sentence Connectors Questions for Canara Bank PO, 
IBPS PO Pre, IBPS SO Pre, IBPS Clerk, RRB Scale I Pre, 
SBI PO Pre, SBI Clerk and Syndicate Bank PO 

Sentence Connector Quiz 24 

Directions: You are required to match statements from columns 1 and 2 and find which of the 
following pairs of statement make sense meaningfully and grammatically. 
 

(1). 

Column (1) 
 

Column (2) 

(A) 
Entrepreneurs are relieved that 

start-ups registered with  
(D) 

one can find everything one need 

under a single roof. 

(B) 
Malls are great places to shop 

because  
(E) that had engulfed the building. 

(C) 
The fire-fighters doused the 

flames  
(F) 

the DPIIT can avail of angel tax 

exemption. 

 

A. Only A-F     B. Only B-D 

C. Only A-F, C-E     D. Only B-D, C-E 

E. None of these 

 

(2). 

Column (1) 
 

Column (2) 

(A) 
Simply offering price support 

does not tackle the problem  
(D) 

greater power to influence the 

rules of the game. 

(B) 
Those with more wealth in a 

society always had  
(E) 

of cropping patterns out of sync 

with agro-climatic conditions. 

(C) Most of the students 
 

(F) 
go to prison to pay for their 

crimes. 

 

A. Only B-D     B. Only B-D, A-E 

C. Only A-E     D. Only A-E, C-F 

E. None of these 



 

 

(3). 

Column (1) 
 

Column (2) 

(A) 
The scheme provides substantial 

relief in tax dues for  
(D) for the floors to remain clean. 

(B) A strict upbringing is necessary 
 

(E) 
involved in payments will be only 

stored on servers in India. 

(C) 

Rules require WhatsApp to 

submit a third-party auditor 

report that all data  
(F) 

all categories of cases as well as 

full waiver of interest, fine or 

penalty 

 

A. Only A-F     B. Only B-D 

C. Only B-D, C-E     D. Only A-F, C-E 

E. None of these 

 

 

(4). 

Column (1) 
 

Column (2) 

(A) 
Some of the measures promote 

the ease of doing  
(D) 

speak to his grandfather so 

rudely. 

(B) 
The accuracy of translations will 

also depend on users’  
(E) 

business and even the ease of 

living for ordinary citizens. 

(C) It was impertinent of him to 
 

(F) 

pronunciation and the efficiency 

of the machine learning 

algorithms. 

 

A. Only A-E, C-D     B. Only C-D 

C. Only B-F     D. A-E, B-F, C-D 

E. None of these 

 

 



 

 

(5). 

Column (1) 
 

Column (2) 

(A) 

The objective of the mission 

Chandrayaan-2 is to develop and 

demonstrate  
(D) 

with the Android robot sitting in 

to 

(B) 
Android 10 also comes with a 

refreshed logo  
(E) 

the necessary properties of 

conductivity and malleability. 

(C) The roses in the garden lack 
 

(F) 
the key technologies for end-to-

end lunar mission capability. 

 

A. Only A-F     B. Only B-D 

C. Only B-D, C-E     D. Only A-F, B-D 

E. None of these 

 

(6).  

Column (1) 
 

Column (2) 

(A) 
The museum has virtual reality 

booths to give insight to  
(D) 

reduce the premiums placed on 

oil sold to Asian countries. 

(B) The girl is doing homework 
 

(E) 
visitors about the 19th century 

when the bunker was created. 

(C) 
The story says that the buyers' 

bloc might push OPEC to  
(F) 

that was given by mother as 

family heirloom. 

 

A. Only C-D     B. Only A-E 

C. Only A-E, C-D     D. A-E, B-F, C-D 

E. None of these 

 

 



 

 

(7). 

Column (1) 
 

Column (2) 

(A) The Kingdom of Bahrain is an  (D) chest, shoulders, back, neck, and 

head in a specific set of positions 

optimized for your body. 

(B) To sit and stand up straight 

requires a conscious decision to 

place your pelvis, abdomen, 

 (E) and reading his morning 

newspaper. 

(C) The dog is lying on the grass  (F) island country in the Persian 

Gulf. 

 

A. Only A-F     B. Only B-D 

C. Only B-D, C-E     D. Only A-F, B-D 

E, None of these 

 

(8).  

Column (1) 
 

Column (2) 

(A) Biometric devices would be 

installed in 

 (D) during the day strange noises 

were heard. 

(B) The Companies Act has laid down 

safeguards to 

 (E) schools to ensuring regular 

attendance of teachers. 

(C) He does nothing but read comics  (F) ensure that the interests of all 

parties do not get entangled. 

 

A. Only C-D     B. Only A-E 

C. Only A-E, C-D     D. Only B-F 

E. None of these 

 

 

 



 

 

(9). 

Column (1) 
 

Column (2) 

(A) 
In the first phase of the scheme, 

one school from each  
(D) 

blacklisting doesn't leave a 

gaping hole in India’s oil basket. 

(B) 
The creature looked so weird 

that  
(E) 

one could mistake it for an extra-

terrestrial being. 

(C) 
Other producers have been 

engaged to make sure Iran's  
(F) 

of the 60 Assembly 

constituencies in the state have 

been selected. 

 

A. Only C-D     B. A-F, B-E, C-D 

C. Only B-E     D. Only A-F, C-D 

E. None of these 

 

 

(10). 

Column (1) 
 

Column (2) 

(A) 
India has become the first 

country to  
(D) 

the-cuff remarks on serious 

policy issues 

(B) 
The US President has a habit of 

making off-  
(E) to which meditation is the key. 

(C) His wife has been complaining 
 

(F) 
have a National Essential 

Diagnostics List. 

 

A. Only C-E     B. Only B-D 

C. Only A-F, C-E     D. Only A-F,B-D 

E. None of these 

  

 



 

 

Correct answers: 

1 2 3 4 5 6 7 8 9 10 

C B D D A C D D B D 

 

Explanations: 

 

1. Checking A-F: 

Entrepreneurs are relieved that start-ups registered with the DPIIT can avail of angel tax 

exemption. 

The above sentence is correct both grammatically and contextually. 

Checking B-D: 

Malls are great places to shop because one can find everything one need under a single 

roof. 

The above sentence is grammatically incorrect. Singular subject ‘one’ should be 

followed by ‘needs’ instead of ‘need’ in order to make the sentence correct. 

Checking C-E: 

The fire-fighters doused the flames that had engulfed the building 

The above sentence is correct both grammatically and contextually. 

Option C is hence the correct answer. 

 

2. Checking B-D: 

Those with more wealth in a society always had greater power to influence the rules of 

the game. 

The above sentence is correct both grammatically and contextually. 

Checking A-E: 

Simply offering price support does not tackle the problem of cropping patterns out of 

sync with agro-climatic conditions. 

The above sentence is correct both grammatically and contextually. 



 

 

Checking C-F: 

Most of the students go to prison to pay for their crimes. 

The above sentence does not make any sense and is contextually incorrect. Hence, the 

pair C-F is invalid. 

Option B is hence the correct answer. 

 

3. Checking A-F: 

The scheme provides substantial relief in tax dues for all categories of cases as well as 

full waiver of interest, fine or penalty. 

The above sentence is correct both grammatically and contextually. 

Checking B-D: 

A strict upbringing is necessary for the floors to remain clean. 

The sentence doesn't make any sense contextually. The pair B-d is hence invalid. 

Checking C-E: 

Rules require WhatsApp to submit a third-party auditor report that all data involved in 

payments will be only stored on servers in India. 

The above sentence is correct both grammatically and contextually. 

 Option D is hence the correct answer. 

 

4. Checking A-E: 

Some of the measures promote the ease of doing business and even the ease of living 

for ordinary citizens. 

The above sentence is correct both grammatically and contextually. 

Checking C-D: 

It was impertinent of him to speak to his grandfather so rudely. 

The above sentence is correct both grammatically and contextually as well. 

Checking B-F: 



 

 

The accuracy of translations will also depend on users’ pronunciation and the efficiency 

of the machine learning algorithms. 

The above sentence too is correct both grammatically and contextually. 

Option D is hence the correct answer. 

 

5. Checking A-F: 

The objective of the mission Chandrayaan-2 is to develop and demonstrate the key 

technologies for end-to-end lunar mission capability.    

The above sentence is correct both grammatically and contextually. 

Checking B-D: 

Android 10 also comes with a refreshed logo with the Android robot sitting in top. 

The above sentence is grammatically incorrect. In fragment D instead of the preposition 

'in' the preposition 'on' should have been used before ‘top’. Hence, the pair B-D is 

invalid.  

Checking C-E: 

The roses in the garden lack the necessary properties of conductivity and malleability. 

The above sentence is contextually incorrect because of the properties of ‘conductivity’ 

and ‘malleability’ are used when referring to metals. 

Option A is hence the correct answer. 

 

6. Checking C-D: 

The story says that the buyers' bloc might push OPEC to reduce the premiums placed on 

oil sold to Asian countries. 

The above sentence too is correct both grammatically and contextually. 

Checking A-E: 

The museum has virtual reality booths to give insight to visitors about the 19th century 

when the bunker was created. 

The above sentence is correct both grammatically and contextually. 



 

 

Checking B-F: 

The girl is doing homework that was given by mother as family heirloom. 

The sentence doesn't make any sense. The pair B-F is hence invalid. 

Option C is hence the correct answer. 

 

7. Checking A-F: 

The Kingdom of Bahrain is an island country in the Persian Gulf. 

The above sentence too is correct both grammatically and contextually. Hence, the pair 

A-F is valid. 

Checking B-D: 

To sit and stand up straight requires a conscious decision to place your pelvis, abdomen, 

chest, shoulders, back, neck, and head in a specific set of positions optimized for your 

body. 

The above sentence is correct both grammatically and contextually. 

Checking C-E: 

The dog is lying on the grass and reading his morning newspaper. 

The sentence doesn't make any sense. The pair C-E is hence invalid. 

Option D is hence the correct answer. 

 

8. Checking C-D: 

He does nothing but read comics during the day strange noises were heard. 

The sentence doesn't make any sense contextually. The pair C-D is hence invalid. 

Checking A-E: 

Biometric devices would be installed in schools to ensuring regular attendance of 

teachers. 

The above sentence is incorrect grammatically as. In this sentence, ‘to’ should be 

followed by ‘ensure’ instead of ‘ensuring’ in order to make the sentence correct. 



 

 

Checking B-F: 

The Companies Act has laid down safeguards to ensure that the interests of all parties 

do not get entangled. 

The above sentence is correct both grammatically and contextually. 

Option D is hence the correct answer. 

 

9. Checking C-D: 

Other producers have been engaged to make sure Iran's blacklisting doesn't leave a 

gaping hole in India’s oil basket. 

The above sentence is correct both grammatically and contextually. 

Checking A-F: 

In the first phase of the scheme, one school from each of the 60 Assembly 

constituencies in the state have been selected. 

The above sentence is correct both grammatically and contextually as well. 

Checking B-E: 

The creature looked so weird that one could mistake it for an extra-terrestrial being. 

The above sentence too is correct both grammatically and contextually. 

Option B is hence the correct answer. 

 

10. Checking C-E: 

His wife has been complaining to which meditation is the key.    

The sentence doesn't make any sense contextually. The pair C-E is hence invalid. 

Checking B-D: 

The US President has a habit of making off- the-cuff remarks on serious policy issues. 

The above sentence too is correct both grammatically and contextually.  

Checking A-F: 

India has become the first country to have a National Essential Diagnostics List. 



 

 

The above sentence too is correct both grammatically and contextually. 

Option D is hence the correct answer. 
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